Republic of the Philippines
Benguet State Anivergity

La Trinidad, Benguet
Tel/Fax No. 661-1839
Email: procurement@bsu.edu.ph

JRids and Awavds Committee Goods and  Sevvices

SUPPLEMENTAL/ BID BULLETIN
Addendum No. 2023-16

PROJECT NUMBER: IB No. 2023-33
PROJECT TITLE: PROCUREMENT OF SUPPLY, DELIVERY AND INSTALLATION OF TRANSFORMER,
WIRES AND ACCESSORIES

This Supplemental/bid bulletin is being issued to advise prospective bidders to clarify items in the
Bidding Documents in response to the clarification from prospective bidders. The Bidding
Documents and all papers previously issued in relation to the aforesaid project are hereby amended
as follows:

1. Copy of the “Financial Proposal” as part of the bidding documents which was earlier
posted in the PhilGEPS and BSU website is hereby replaced (See attached new Financial
Proposal).

This Supplemental Bid Bulletin No. 2023-16 shall form part of the Bidding Documents. Any
provision in the Bidding Documents and other documents inconsistent herewith is hereby
amended, modified and superseded accordingly. Other provisions shall remain in full force and
effect.




Republic of the Philippines

BENGUET STATE UNIVERSITY
La Trinidad, Benguet

FINANCIAL PROPOSAL

Name of Bidder
1 3 4 5 6 7 8 9 10
A Supply, Delivery and Installation of Transformer, Wires and Accessories for BAPTC 1
I. Transformer Requirements
1 Distribution Transformer, 37.5kva, 22.86/13.2kv 240/120v 3
2 Electrical Plan 1
3 Fee Sign and Seal/PRO 1
4 Line Materials, Transformer and Metering Requirement 1
5 Labor for installation 1
A. PROTECTIVE DEVICES
1 Arrester, Lightning, 18kv 1
2 Fuse, Cut-out, 100a, 23-27kv 1
3 Fuse, Link, 3a 1
B. OTHER LINE HARDWARE
1 Anchor, Expanding 3
2 Bolt, Double Arming, 5/8 X'18" 8
3 Bolf, Machine, 5/8 X 12" 13
4 Bolt, Oval Eye, 5/8 X 10" 2
5 Bolt, Oval Eye, 5/8 X 12" 1
6 Bolt, Thimble Eye, 5/8 X 10" 3
7 Bracket, Mounting, For Fco & La (27kv) 1

Page 10f 4




3 4 5 6 7 8 9 10
8 Clamp, Deadend Strain, #2/0 - #4/0 2
9 Clamp, Ground Rod, 5/8" 1
10 Clamp, Guy, 3-bolt Hd a
1 Clamp, Hotline, #2/0 2
12 Clevis, Secondary, Swinging 1
13 Conductor, Acsr Bare, #2/7 250
14 Conductor, Copper Bare, 22mm, #4/7 3
15 Connector, Stirrup, 2/0-1/0 Awg 1
16 Connector, U-bolt, #210 Loop Deadend 2
17 Crossarm, Steel, 3" X 4" X 8' 12
18 Fuse, Cut-out, 200a, 23-27kv 1
19 Fuse, Link, 6a 1
20 Insulator, Pin Type, 23-27kv, 56-2 12
21 Insulator, Spool, 3" 1
22 Insulator, Suspension, #10" Clevis Type, Polymer 2
23 Nut, Lock, 5/8" 18
24 Pin, Pole Top, 1 318 X 5/8, 23 Kv 12
25 Plate, Pole Number 1
26 Pole, Steel, 35ft 2-section 1
27 Rod, Anchor, 5/8 X 7', Single Eye 3
28 Rod, Grounding, 5/8 X 10’ Galvanized 1
29 Washer, Square, 2 1/4 X2 1/4 X 3/16 66
30 Wire, Grounding, #5/16, 3 Strands 10
3 Wire, Guy, 3/8 X 7 Strand 33

Page 2 0f 4




3 4 5 6 7 8 9 10
Ly S T A -l e e Ty
C. METERING REQUIREMENT
1 Bolt Machine, 1/2" X 12" 2
2 Connector, Comp # Yho 100/Yho 1 2
3 Connector, Comp # Yho 250 (Wr-379) 2
4 Current Transformer Box, 3- holes 1
5 Current Transformer, 100:5, 600V 2
6 Electrical Tape 2
7 Meter Box, 3 - phase, GA#18 1
8 Meter seal, plastic 2
9 RSC Coupling, 1" 3
10 RSC Nipple, 1" X 10" 2
1 RSC Pipe, 1" without coupling 1
12 Rubber Tape, 3/4" X 9 Yards 2
13 Straight Connector, 1" 1
14 THHN Wire, #12/7, 3.5mm2, Black 10
15 THHN Wire, #12/7, 3.5mm2, Green 10
16 [THHN Wire, #12/7, 3.5mm2, Red 10
17 THHN Wire, #12/7, 3.5mm2, White 10
18 Test Block, 10 points 1

Page 3af 4




3 4 5 6 7 8 9 10
D. KWHR METER
1 KWHM, Multifunction, 3P, 3W, with Ethernet 1
1. SERVICE ENTRANCE INSTALLATION
1 Copper Wire, 80mm3, THHN 120
2 Copper Wire, 30mm3, THHN 60
3 PVC pipe, 2" @ 5
4 Fuse box 1
5 RSC Clamp, 2" 15
6 Solder less connector, 2/0 8
7 Secondary rack, 3 pole 2
8 Three bolt clamp 6
9 Guy Wire, 3/8” (Messenger Wire) 20
10 Oval eye bolt, 5/8x12 2
11 Bolt clevis 2
I1l. AUTOMATIC TRANSFER SWITCH
1 ATS, 225 Amp 1
000K
XXXXX

SIGNATURE OVER PRINTER NAME OF BIDDER

PogE G Of 4




